

5月2日 三(5) 1.テスト

1

I

$$(1) \frac{3 \cdot 2^n - 5}{2^n + 3} = \frac{3 - 5 \cdot \frac{1}{2^n}}{1 + 3 \cdot \frac{1}{2^n}} \rightarrow \frac{3 - 0}{1 + 0} = 3$$

$$(2) \frac{3n^2 + 4n}{2n^2 - 3} = \frac{3 + 4 \cdot \frac{1}{n}}{2 - 3 \cdot \frac{1}{n^2}} \rightarrow \frac{3 + 4 \cdot 0}{2 - 3 \cdot 0} = \frac{3}{2}$$

$$(3) \frac{3n - 4}{n^2 + 1} = \frac{3 \cdot \frac{1}{n} - 4 \cdot \frac{1}{n^2}}{1 + \frac{1}{n^2}} \rightarrow \frac{3 \cdot 0 - 4 \cdot 0}{1 + 0} = \frac{0}{1} = 0$$

$$\text{II} \quad (1) \quad n(n-1) = \frac{1}{3} \{ (n+1)n(n-1) - n(n-1)(n-2) \}$$

$$(n+1)n(n-1) - n(n-1)(n-2)$$

$$= n(n-1) \{ (n+1) - (n-2) \}$$

$$= 3n(n-1)$$

かゝるから

$$(2) \quad \sum_{k=1}^n k(k-1) = ?$$

$$f(k) = (k+1)k(k-1) \text{ とおす}$$

$$\sum_{k=1}^n k(k-1) = \frac{1}{3} \sum_{k=1}^n \{ f(k) - f(k-1) \}$$

$$= \frac{1}{3} (f(n) - f(0))$$

$$= \frac{1}{3} (n+1)n(n-1)$$

$$= \frac{1}{3} (n^3 - n)$$

2. 100

$$\begin{aligned}
 \textcircled{III} \quad \sum_{k=1}^n k^2 &= \sum_{k=1}^n (k^2 - k) + \sum_{k=1}^n k \\
 &= \frac{1}{3} (n^3 - n) + \frac{n(n+1)}{2} \\
 &= \frac{1}{6} \{ (2n^3 - 2n) + (3n^2 + 3n) \} \\
 &= \frac{1}{6} (2n^3 + 3n^2 + n) \\
 &= \frac{1}{6} n(n+1)(2n+1).
 \end{aligned}$$

III $f(x) = \frac{1}{x^2} \quad (x \neq 0) \quad x \neq 0 \text{ 且 } \exists \delta > 0 \text{ 使 } f'(x) \text{ 存在.}$

$$\begin{aligned}
 \frac{1}{h} \cdot \frac{\frac{1}{(x+h)^2} - \frac{1}{x^2}}{h} &= \frac{1}{h} \cdot \frac{x^2 - (x+h)^2}{x^2 (x+h)^2} \\
 &= \frac{-2x - h}{x^2 (x+h)^2}
 \end{aligned}$$

由 $h_n \rightarrow 0 \quad (h_n \neq 0) \quad \forall \epsilon > 0, \exists \delta > 0 \text{ 使 } \{h_n\} \subset \delta$
 $\epsilon > 0$.

$$\frac{f(x+h_n) - f(x)}{h_n} = \frac{-2x - h_n}{x^2 (x+h_n)^2}$$

$$\longrightarrow \frac{-2x - 0}{x^2 (x+0)^2} = - \frac{2x}{x^4} = - \frac{2}{x^3}$$

$\Sigma \{ \frac{1}{\delta} \} \text{ 收敛}$

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = - \frac{2}{x^3}$$

$$IV \quad f(x) = \frac{1}{1+x^2} \quad \text{is it?} \quad f'(x) = ?$$

$h \neq 0 \in \mathbb{R}$

$$\frac{f(x+h) - f(x)}{h} = \frac{1}{h} \cdot \left(\frac{1}{1+(x+h)^2} - \frac{1}{1+x^2} \right)$$

$$= \frac{1}{h} \cdot \frac{(1+x^2) - (1+(x+h)^2)}{(1+x^2)(1+(x+h)^2)}$$

$$= \frac{1}{h} \cdot \frac{-2xh - h^2}{(1+x^2)(1+(x+h)^2)} = \frac{-2x - h}{(1+x^2)(1+(x+h)^2)}$$

is it? $\{h_n\} \subset \mathbb{R}$. $h_n \rightarrow 0$, $h_n \neq 0 \quad \forall n \in \mathbb{N}$

$\{h_n\} \subset \mathbb{R}$ is it?

$$\frac{f(x+h_n) - f(x)}{h_n} = \frac{-2x - h_n}{(1+x^2)(1+(x+h_n)^2)}$$

$$\longrightarrow \frac{-2x - 0}{(1+x^2)(1+(x+0)^2)} = \frac{-2x}{(1+x^2)^2} \quad (n \rightarrow +\infty)$$

is it? is it?

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} = \frac{-2x}{(1+x^2)^2}$$

is it?